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1 Which of the following best describes deductive

rensoning T

A ming hgic to drw conclusions kased on
arcepicd siolements

B occcpting the meaning of a borm withouot
delimition

C  defining mathemalical erms Lo cormespond
with physical objecis

I}  imferming o goneral truth by examining a
mumber of specific cxamples

Multiple Choice Final Review

In the dingrom below, 21 =24,

t
‘Which of the following conclusions does mal

have to be true?

A 3 and £4 are supplemeniary angles.
B Linc!is parallcl io line me.

C Llz=L3

D £X=J3

In the sccompanying dingrum, poralle] lines |
ond m mre cul by tronsversal .

Which sinterment shout angles 1 nond 2 muss
b true?

A Jlz=£L

B s the complement of 2.
C £lis the supplement of £2.
I £land 22 arc right angles.

Civen: p"q;
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ms1=T8"
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Vhat s ms 2T
A 15
B 75
C oF
o 105

| 5 | Use the proof io nnswer the question below.
Givenz £224 3

Prover S 124
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b S e W T | LT
i L1=L4 3, Trumsitive Property

What resson can be nsed (o justify staternent 27

Camplcments of congneonl angles anc congroont.
Verlical angles arc congrucol.
Supplements of congrucol angles anc congrucol.

2 f @

Cammpanding ongles anc congrucol

6 | “Twr lines in a plone alwome intersed in exacily
ome paiaL™

Which of the following besi describes a
coumierexample to the nxsertion oboveT
A coplanar lncs

B paralbc] limes

C popocodicular limcs

1]

imtcrsecting lines




7 | Whatis m<x ?
B/x
A &0° 2 c
A 35" [
B &0° D 95"

polygon is 120°, how many sides does the
polygon have?

A 3

B 4 C 3 |

E If the measure of an exterior angle of a regular

11 | In the figure below, AR | CD.
A D
(x+40p (x— 40y
B C
What is the value of x7
A 40
B 50
C 80
D 90

14

A regular polygon has 12 sldes. What is l.tlJ

measure of each exterior angle?
A 157
B 30°
C 45
D &0°

9 Two angles of a trisngle have measures of 55°
and 65", Which of the following could not be a
measure of an exterior angle of the triangle?

A 115°
B 11X
C 15°
D130

12

The measures of the interior angles of a
pentagon are 2x, 6x,4xr— 6, 2x —16, and

6x + 2. What is the measure, in degrees, of the
largest angle?

A I8

B 106

C 170

D 174

The sum of the interior angles of a polygon is
the same as the sum of its exterior angles. W
type of polygon is it?

quadrilateral

hexagon

octagon

10

=2 0 m e

decagon

13

For the quadrilateral shown below, what is

mla+ msc?

A &

B 1370
C 180°
D 233

17 |What s ms WZX'?

15 |What s mz 17

34
56"
64"

=R B -

&0°
90”
[
D 1P

N E

What is the measure of an exterior angle of a
regular hexagon?
A 30°

18

L6

Moarsha is using a straightedge and compass to
do the construction shown below.

B 60°
c 120f
D 180°

/ — {
Which best describes the construction Marsha
Is doing?

A aline through P parallel to line !

B aline through P intersecting line {

C aline through P congruent to line [

D aline through P perpendicular to line {

ﬁl Given: angle 4

‘What Is the first step in constructing the angle
bisector of angle A?

A Draw ray AD.

B Diaw aline segment connecting points B
and C.

C  From points B and C, draw equal arcs that
intersect at D.

D From point A, draw an arc that intersects the
sidas of the angle at points B and C.




